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1) PART A General Paper

Question No. 1 / Question ID 150505

Marks: 2.00



The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table. angwer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of
Employees who
prefer their own
Vehicles

184
78

384
182
220

Company

Hoawe

Number of Employees

who prefer Metro

68%
60%
55%
70%
72.5%

Number of
Employees who
prefer Bus

24%

35%

30%

16%

15%

What is the total number of employees who prefer travelling by Metro from A. B and C?

. 3908
. 3710
. 3308
. 4028
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1. 3908

2. 3710

3. 3308

4. 4028

O 1 (Chosen Option)
1 (Chosen Option)
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Question No. 2 / Question ID 150502

The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table, answer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of
Employees who
prefer their own
Vehicles

184
78

384
182
220

Company

Hogawe

Number of Employees

who prefer Metro

68%
60%
55%
70%
72.5%

What s the average number of employees in A, B and D?

. 1850
. 1750
. 1620
. 1720

o o =

Number of
Employees who
prefer Bus

24%

35%

30%

16%

15%
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FAE % §
A 184 68%
B 78 60%
c 384 55%
D 182 70%
B 220 72.5%

U A, B SR D § sHarial &1 siad de ol § 2

1. 1850
2. 1750
3. 1620
4.1720

T SHanEl B
e B E

24%
35%
30%
16%
15%

Marks: 2.00



(Chosen Option)
(Chosen Option)

2
2
O 3
3
O 4
4

Question No. 3 / Question ID 150503 Marks: 2.00



The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table. angwer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of
Number of

Employees who Number of Employees

Company : o e : Employees who
prefer their own who prefer Metro ofer B
Vehicles PRS0

A 184 68% 24%

B 78 60% 35%

C 384 55% 30%

D 182 70% 16%

E 220 72.5% 15%

In an another company P. if the number of employees who prefer travelling by Metro is 25% more than the
number of employees who prefer travelling by Metro from company B and the number of employees who
prefer travelling by metro from company P is 45% of the total number of employees in that company, then
the total number of employees in company E is % less than the total number of
employees in company P.

' 361%
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Question No. 4 / Question ID 150501 Marks: 2.00



The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table. angwer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of
Number of
Employees who Number of Employees
Company : o e : Employees who
prefer their own who prefer Metro T
3 prefer Bus
Vehicles
A 184 68% 24%
B 78 60% 35%
C 384 55% 30%
D 182 70% 16%
E 220 72.5% 15%

What 15 the difference between the number of employees who prefer travelling by Metro from companies D
and E together and the number of employees who prefer travelling by bus from companies A. D & E
together?

. 1142

. 1162

. 1122

. 1194

it aifte & A - E uie $ufdt & U9 sl @ d@ o S1aiad Uge & [0 09 9159 & Ya1 &3 06e &3
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D 182 70% 16%
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Question No. 5/ Question ID 150504

The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data i the table. answer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Company

Hoawe

Number of
Employees who
prefer their own
Vehicles

184
78

384
182
220

Number of Employees

who prefer Metro

68%
60%
55%
70%
72.5%

Number of
Employees who
prefer Bus

24%

35%

30%

16%

15%

What is the ratio of number of employees who prefer travelling by Bus from company C to that of D?

1. 48:19
2. 48:23
3. 48:13
4. 48:11

FofafEa aifee § A - E uie $ufgl & U8 shaial @) den o saiog uges & {0 e a5 & W 6 uee s
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184
78
384

182
220

X 3
68%
60%
55%
70%
72.5%

T HHanEl &t
T H &

24%
35%
30%
16%
15%

SO C 3R D # 99 ¥ T S T S 9T FHANG S Geiel B U ®1 6 ?

1. 48:19
2.48:23
3.48:13
4. 48:11

Marks: 2.00



O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 6 / Question ID 150522

There are six persons in a room namely A. B. C. D. E & F. A and E are brothers, B and D are daughters of the
brother of C's father. F is the sister of E and C is the only son of A's uncle. How many male and female
members. respectively. are there in the room?

1.3&3

2.4&2

3.2&4

45&1
A.B.C.D.E3RFATT S Afdd U HHIT ¢ | A 3R E YTE §. B 3R D, ¢ & a1 & Ui ot afeaf gl
F, E 1 96 & auT C, A % 9191 &1 UHHE U7 & | O HFR & Iou ug Afgamsi & e oo frat § 2

33k 3
L43IR 2
23R 4
53R

1 (Chosen Option)
1 (Chosen Option)

B R
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Marks: 2.00

Question No. 7 / Question ID 150525

gfe; farddt e W A :
(a) ‘RED'®! 360 & 39 & pfed frar mar g
A "RED' is coded as 360

B. BLACK is coded as 792 (b) ‘BLACK’ @I 792 & %0 T pled fbar mar s

In a certain coding language:

How 'BLUE' will be coded in that language? 1 39 YT H ‘BLUE® &1 B lflqad fepar S 2
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Marks: 2.00

Question No. 8 / Question ID 150531

Marks: 2.00



Which of the following pairs of acronym and its expanded form is incorrectly matched?

. CMOS- Consistent Metal-Oxide Semiconductor
. DRAM- Dynamic Random Access Memory

. MICR- Magnetic Ink Character Reader

. VLSI- Very Large Scale Integration

fTeEd uikavl wreai ud g-9d fa%qd ©ul &1 %I 91 i Tdd ¥4 9 gafd ¢ 2
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2. 31 AR T TH - SHAH® Yo a0y BRI

3. UH oM 91 3R - B H & et dex

4. 91 U U9 38 - O3 Ao W d S RRE

1 (Chosen Option)
(Chosen Option)
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Question No. 9 / Question ID 150513

Given below are two statements:

Statement I: Coding is a crucial stage in the process of doing a content analysis.

Statement II: A coding schedule includes all the dimensions that would be employed in the coding process and
indications of the guidance for coders

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

1 g1 Py fSu Ty &

FYA 1 : [T a3 fa=aiwu A &1 Wfehan & P 1 (He) T Tgayul 9RuT g |

PUYFII : T G4 (Pe-) Taul S 4 9 Tl SmE e sid § ol ded - Wihar IR el oq
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1 (Chosen Option)
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Question No. 10 / Question ID 150507

If the mobile number of your friend changes, and you often continue to dial his former number, it is an
example of

. Positive transfer of learning
. Negative transfer of learning
. Zero transfer of learning

. Bilateral transfer of learning

2 =

[ S ¥ ¥}

e S T &1 Aieed H6% 980 ol § AR AT HRR 39 IR 76% I BIF $d 8, 98 Saeivl g

1. SIEATH BT GHRIHD 3l
2. 3HfETH BT TERTED <R
3. S{ETH &1 Y 3Rl

4. 3MEATH BT [guefl s

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

Marks: 2.00

O 4
4
Question No. 11 / Question ID 150524 Marks: 2.00
A man runs 20 meters towards east and turns right, runs for 15 meters and again turns right. Now the man runs
for 10 meters and again turns to his left. Now he again runs for 10 meters and turns to his left. From here the
man runs for 20 meters and once more turns to his left and runs for 12 meters. Now which direction the man is
facing?
1. North
2. South
3. East
4. West
afe TP it ud 1 3R 20 Tiex rsar € qur et 3R g5 8. iR 15 Hex dsar s ik s arien
S &Il & | 3d SH1GH! 10 Hiex &1sdl & adl YA: -1 ardl 3R gS o1dl & | 3@ ag R 9 10 Hiex &rsar
© YT O AT SR T3 W1 § | I8 § SMTSH 20 Hiex aisdl o 0l UHaR 3R 07 §id T3 o1dl § AR
12 ez rsar o1 a1 i@ el &1 45 fpu = &g 0
1.3
2. gf&r
.99
4. OEH
O 1 (Chosen Option)
1 (Chosen Option)
o 2
2
O 3
3
O 4
4
Question No. 12 / Question ID 150527 Marks: 2.00



Which of the following statements are logically equivalent to the statement "Some professors are
spiritualists"?

A, Some spiritualists are professors.

B. Some non-spiritualists are not non- professors.
C. No spiritualists are professors.

D. Some professors are not non spiritualists.

Choose the correct answer from the options given below:

.A.B & D only
A &D only
.B & C only

4, C &D only

ARG 8 ¥ S J S dife® eff 8 HYF T8 WhaR Seedlg] o & J09qed o7
A S HAAE B S |
B. 8 IR-ATad! TR 781 o

C. Big 1t SeTETare eI 761 © |
D. T UIthaR IR- A Tl § |

= feu T fae et § 9 9ad 9uged SO &1 94 DI -

[FER S S

1.HAAA. B3R D
2. FEAAIARD
3. PaAB 3R C
4.FaACARD

O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

O 3
3

O 4
4

Question No. 13 / Question ID 150539 Marks: 2.00
% o (e H [aafdd gl (S8l W J HHt
Decreasing dissolved oxygen (DO) level in a water body A, STeiT sfteq & Rrg ik 3
A. Severly threatens the aquatic life B. : SRS 1 T aTel SRS} & PR Bl 6 |

B. is mainly caused by the oxygen demanding wastes C. uid HEaR0Ng Sifde uerdl &1 Sufifa &t ﬂﬁﬁk—‘i P15
C. indicates the presence of biodegradable organic substances D 3GifRd WE. I FT TR ‘E’,’[

D. cause ultldesired taste and color . E. g8 38 OFd & feld g EaEe |
E. makes it non- drinkable to human beings
= f&u U gl § O 9El 3Tk &1 904 Pifu :

Choose the correct answer from the options given below:

1. A.B. C.D only 1.$AdA.B,C.D
2.B.C.D.Eonly 2. $4uB.C.D.E
3.A.C.D.Eonly 3. PdU A C.D.E
4.A.B.D.E only 4. PadA.B.D.E
o1

]

O 2 (Chosen Option)
2 (Chosen Option)



Question No. 14 / Question ID 150535 Marks: 2.00

Which of the following statements A-C is / are correct about cyber attacks?

A, Spyware prevents access to a website
B. Virus is self-replicating malicious code on a computer.
C. Denial-of-service (DoS) captures all data entered using a keyboard to obtain personal data.

Choose the correct answer from the options given below:

. Aonly
. B only
. C only
.A & B only

e gdl @ 9o # FEffd eyl A-c T A s I/ S Py Hgl 8/ 8 2

A, TSR [T dauTge & AHTH S Jadl §

B. IR ¥l e’ R W-ufisios fagugel @S §

c. cafaaTTd 121 Urd &34 & foru foodt Fiars g uiaw f&d w1 9ut Ster &1 uuew 961 & 9ER
(DoS)ERT e o &

= fou U faedl 6 U Uet SR &1 949 Bifolg :

R R

1. $ad A
2. $ad B
3. %adcC
4. Had A 3R B

(Chosen Option)
(Chosen Option)

o O O O
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Question No. 15/ Question ID 150509 Marks: 2.00



Which of the following are the ways to mncrease motivational climate in the class?

A, Use a variety of instructional strategies to maintain student interest

B. Give students opportunities to share their experiences and learning with each other
C. Allow sarcasm and superiority to exhibit in classroom

D. Fostering classroom atmogphere which is based on trust and cooperation

Choose the correct answer from the options given below:

.B & C only
.C &D only
.A.B & D only
4.A.C &D only

D&l H SRV ardiarvl # siiigls & S AEfiEa d 4 s U g 2

A. faemdf &7 siftele 991 = & foe Heenetes Jumifont & fd TRl &1 wai &A1
B. faenial & ue-gur & 1Y U SfHd UG SR & ISl B & AR e HA]
C. P& T A (D) SR AW UaiRid B I gl &1

D. [d%ary Ud YgdiT U SATEMRd il & diaiaRul & Uiedig oAl

i feu 72 faeedl & § Tel STk o =0 $ifvg -

| S

g

1. Had B 3R C
2. FaAC ARD
3. HAAA. B3R D
4.%ad A C3RD

1 (Chosen Option)
1 (Chosen Option)
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Question No. 16 / Question ID 150506 Marks: 2.00

An art teacher wants to create an interactive gallery{wall) of famous artists for her students. Which of the
following tools would be most suitable?

. Screen castomatic
. Padlet

. Edpuzzle

. Mentimeter

s oo g o= faiial & fou uite saer! & sraafhards Tkl (@) §9H 95d © |
faefafaa § 9 o= g1 greE gaifis Suanft g 2

P

1. BoF BREdfcD
2. Usde

3. Usyaia

4, THeR

(Chosen Option)

O
(Chosen Option)
O

NN 2~



Question No. 17 / Question ID 150516 Marks: 2.00

The Asian scholar who like Aristotle supported the ethical concept of 'Golden Mean' as applied in
communication , was

. Ananda Coomaraswamy
. Patanjali

. Dao tsu

. Confucius

ufmrs fogm. el oRwg &t wif Tar & wged iies 7 &1 Afdw sauRon o g9 faar, #i9 4

I

1. 3{Hg PHRRAH!
2. GSife

3.8

4. T
(Chosen Option)
(Chosen Option)

o O O O

1
]
2
2
3
3
4
4

Question No. 18 / Question ID 150534 Marks: 2.00

EREa T A T UH - TR & 1H 4 I 0D - G & 9H9de 6 2

A =A3+A4+ASHAG

- 2 : L o
Which MS-EXCEL formulae are equivalent to each other? B. =SUM(A3:A6)

AL =A3+A4+ASHAG C. =BUMAS, AB)
B. —SUM(A3:A6) D. =SUM(A3. A4, A5, A6)
C. =SUM(A3. A6) .
D. =SUM(A3, A4, A5, AG) AT fa 7Y faeped] 7 § Hel SR 1 90 Py -
i A B C ol 1. Pad A, B 3R C
2. A.Band D only 2. %A A, B HRD
3.B and D only 3. Had B 3R D
4. C and D only 4. FIACIARD
O 1
]
o2
2
O3
3
O 4 (Chosen Option)
4 (Chosen Option)

Question No. 19 / Question ID 150541 Marks: 2.00



Which education commission suggested the development of some universities into senior universities?

1. Sargent commission

2. Radhakrishna commission
3. Mudaliar commission

4. Kothari commission

fepd R 3T+ P fawa faeqmeral o1 alvy fawafazmerdl & $u o fqw i o3 &1 gama faar a2

1. GRIE 3gHT
2. AYTHW S
3. TRITCaR SHTART
4, ISR AT

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
Question No. 20 / Question ID 150519 Marks: 2.00
ffafEd o ®F 9 fagvd g Reaum 1 €2
Which of the following are the features of narroweasting? i
; ¥ A vgawfoga &
A. Large area of reach B. HIEFIRT
B. Weak reception &A% DI EY § Iiffd t@?l
C. Limited reach in terms of geographical area D E]‘f&ﬁ[ YD1 & ford TIR-Ied HdHH
B, Nantie . , E. fafir #ifEar <7l & o Suge |
E. Appropriate for specialised media channels
Choose the correct answer from the options given below: RRIERE Hu W . :
1.A.B. C only 1. AU A.B.C
2.B.C.Donly 2. %dd B, C.D
3.A.C.Donly 3. PAUA.C.D
4.C.D.E only 4. 9dd C.D.E
O 1
]
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 21 / Question ID 150517 Marks: 2.00

e IERTT S gE U E THST Sl € |

Media literacy is considered as a

1. Corporate campaign 1. BIRURT AT
2. Limited objective 2. Hifta 352

3. Temporary fad 3. T B

4. Continuous process 4. Tad ufehar



(Chosen Option)
(Chosen Option)

o O O O

1
]
2
2
3
3
4
4

Question No. 22 / Question ID 150530 Marks: 2.00

According to classical Indian School of logical which fallacy 1s committed in the following statement "Fire is
eternal because it is produced"?

1. Viruddha
2. Sadharana
3. Badhita

4. Anupasamhari

YA (FAET) R dhad & AR FEfRed &Y= 8§ S 31 ad aiv 8 2 - <341+ WNad 8, |ife
UE Fa=1 i Il 8

(Chosen Option)
(Chosen Option)

o O O O
AR WW NN =

Question No. 23 / Question ID 150518 Marks: 2.00

vl & - Tegar & UgaH fPoa gl g 2

In films, the elements of silence is identified as

1. Aural syntagm 17500 “\Zﬁﬁﬁ 3 Pl ( )
2. Aural paradigm 2. Hqul Hﬁﬁﬂ
3. Aural position 3. yaur et sraTf@ufa
4. Aural resistance 4. YU et HfaRIY
O 1
]
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)

Question No. 24 / Question ID 150538 Marks: 2.00



EATERIT O BH-5 1 U UGS I a8l & BRD 5 2

Which of the following air pollutants cause acid rain?

A, TI=feP SHTATES
A, Nitric oxide B. Algclul+ SIgAHIGHRS
B. Nitrogen dioxide C. BE AAEIES
C. Carbon monoxide D. JohX SISHTSS
D. Sulphur dioxide E T

E. Methane

i Fq T fawed! # 1 el S 1 <0 it -

Choose the correct answer from the options given below

1. A, B, C only 1.$Ad A, B.C
2.A.B.D only 2. %A A B.D
3.B.C.Donly 3. $adB.C.D
4.C.D.E only 4. 9dd C.D.E

1
1
2
2

O 3 (Chosen Option)
3 (Chosen Option)
4
4

Question No. 25 / Question ID 150528

Which of the following statements are so related that they cannot both be false. although they can both be
true?

A, Some professors are spiritualists,

B. All professors are spiritualists.

C. No professors are spiritualists.

D. Some professors are not spiritualists.

Choose the correct answer from the options given below:

.B & C only
.B & D only
A& D only
A& Conly

FEAffEd 03 ®F T $UF 59 YHR Uaiid ¢ fob d A1 7Tad Tei 8] I, a9 d a1 el o 9dd g2

A TS WHIR AR & |

B. T} VIR ST ®HarEl © |

C. B 1l MBI el Tei ¢ |
D. T UIhIR A T2l ¢ |

= fgu U faeul 0 U gl 3R ol 94 difof :

e L b =

1. HadB AR C
2 FaAB AR D
3. 9ad A3RD
4 FaAAARC

O 1 (Chosen Option)
1 (Chosen Option)
O 2
2

O 3

Marks: 2.00



©)

bW

Question No. 26 / Question ID 150520 Marks: 2.00

Given below are two statements:
Statement I:In communication. meaning construction is a process of making choices.
Statement II: Use of language for communication is a restrictive practice in public domain.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
3, Statement I is true but Statement IT is false
4, Statement I is false but Statement II is true
TR pfigme
FHYF1: TAR F 2 i, fases Faio @1 wRea e g |
YT 11 : TR & 67U U1 &1 JaT rdei-e &84 5 ufadursis Jui e |
SWRIG HY & el H, = Y Y [depedi # 4 9 Iugad SRk &l 994 DIy

|

1. BYT IR 11 1 98T &
2. HYF 1 3R 11 g1 7Te1d §
3. Y1 HE! 8. fbg FU 1 7Ted ©
4 FYA17Ad . fbd PUA I TR ©
O 1

]

(Chosen Option)
(Chosen Option)

©)

2
2
O 3
3
O 4
4

Question No. 27 / Question ID 150508 Marks: 2.00

Sfafifed i & ypR FEAff@d B I P A8 2

A i
A. Semantic Memory B. ®IUfAe® F{Fﬁ

B. Procedural Memory C. qEﬁim
C. Priming D. gz S
D. Episodic Memory B ST ST THTE

E. Classical conditioning effects

Which of the following are the types of Implicit Memory?

4 fau 7w fae el § 9 99 Sugad SR o1 997 Sifey :

Choose the correct answer from the options given below:

1.A&D only 1. Had A IR D
2.C.D & E only 2. $adC, D ARE
3.B.C & E only 3. HadB, C AR E
4. A& B only 4, %ad AR B
O 1

]

O 2 (Chosen Option)
2 (Chosen Option)



Question No. 28 / Question ID 150542 Marks: 2.00

What were the recommendations of Hunter commission on higher education in India?

A, The Government should leave the management of higher education to Indians themselves.
B. Government colleges should be established only where the demand existed.

C. The Government should provide grants to non-government colleges generously.

D. Students should study the prescribed subjects without any option.

E. There was no need for moral education in colleges.

Choose the correct answer from the options given below:

LA, B. C Only
.B.C.D Only
.C.D. E Only
.A.D.E Only

YR H o ¥ UR gex SIrT & RIperigl o o 2

A IRPR F IR P18 FT HeeE. W90 YRATl )R Sie g1 9ied|

B. &R Diclo Ppad el wJIfdd [ omd Sigf Jiv 1|

C. MHR B IR-INPR Plcioll Dl IGRAYAD 3ZH U&H ST o
D. B &I [§41 {4l faea & [iSy fawgi &1 sregg= S=A1 9rfeul

E. ®iawl § A RIe1 &1 S5 agdmdr el ¢ |

=i fog 7Y faoedi | O el SR &1 904 Sifon -

[ S

1. B A.B. C
2.$ad B.C.D
3. %aAC.D.E
4. A A, D.E

1 (Chosen Option)
1 (Chosen Option)

o O O O
AR WW NN

Question No. 29 / Question ID 150537 Marks: 2.00



Green House Gases absorb radiation energy mostly in which of the following region of solar spectrum?

1. X- Ray

2. Ultraviolet

3. Infra-red

4. Visible
BRT T8 T (U1F 5199 T9) 91 Ui (WR WaeH) & Fefarad o &= 8 sifeeier: fafdezor 3ot
DI AT Bl © 2

1. T
) TR
3, 3favad
4.3
O 1

]

(Chosen Option)
(Chosen Option)

O 2
2
O 3
3
O 4
4

Question No. 30 / Question ID 150544 Marks: 2.00

Who among the following thinkers observed that light and heat are only different forms of the same essential
substance and also speaks of gravity as the cause of falling?

. Nagarjuna
. Jivaka

. Kanad

4. Ramanuyj

frfoafad 1§ 3 i faaRe &1 15 U1 6 TS 3iR 31 U ol 3aw® Ugid & $ad (g W& 6 3R
ol a3 & TR 1 BRI [o@ Y0 §idl § ?

L

(Chosen Option)
(Chosen Option)

Question No. 31 / Question ID 150521 Marks: 2.00



If an article 1s sold for 2220, the percentage of profit earned by the shopkeeper 15 the same as the percentage
of loss incurred on that article if it 15 sold for T 1580. At what price should the article be sold so as to make a
profit of 25%.

%2175
22273
2T2375
22300

fe; foret a%g 1 2 2220 T §=1 W1 8. 1 §PTFIAR GIR1 WIS T 1 UId2Id, 99 a%g &1 21580 H &< o1
R 3P GRT 3613 TS BT & FINId & sR1aR Sid1 & | ol a%q b1 b Heu R a1 oy fomd 25% @y
T febar o1 Hep?

R

LZ2175
22275
. 22375
L 22300

N

(Chosen Option)
(Chosen Option)

o O O O

A WW NN

Question No. 32 / Question ID 150543 Marks: 2.00

The Committee for evolution of the New Education Policy (2016) proposed the establishment of a council for

. Private Universities

. Foreign Universities

. Educational Innovations

. Excellence in Higher Education

T3 e A (2016) Bt [aema Gaeh winfa A fGrwes forg afkeg nfda &= &1 gema ka2

T R S

1. it feafaame
2. faexit f[axafaee™
3. QP TaER

4. 3 &M & Spydr

o O O O

(Chosen Option)

]
1
2
2
3
3
4
4 (Chosen Option)

Question No. 33 / Question ID 150540 Marks: 2.00



Given below are two statements:
Statement I: Acute health effects are caused due to prolonged exposure to a chemical.
Statement II: Chronic health effects occur when an individual is exposed for a very short period.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4, Statement I is false but Statement II is true
Fo g Fyfeu e
FHYT1 : U T $ ardPIierd U I 4ud § o U dig W yye usd §
HYFII : Od D5, oiad dgd Bic! it & 78 Jud & 1l & ol RRSIa% @R YHd Sa-1sid 6 |
SIS DY & el H, i Y Y [dehedi © 4 Tl Iuged SR &1 994 Hifoig:

=

1. HYF1 AR 1S4 T

2. FYF T AR I SHT 3 &

3. FYTI TR, A dY 1 I8
4. YT AT pYT N T ©

1 (Chosen Option)
1 (Chosen Option)

o O O O
AR WW NN

Question No. 34 / Question ID 150514

When researchers use designs that call for multiple groups. the most commonly employed test is

. £~ test

. t= test for difference of means
. paired t-test

. F-test

W Yiuddl U TGl &1 WIRT Hdl § oy dgide JHg! & A1aRIsHdl Usdl 6. 59 od Halld®
AT ¥ ¥ WE 817 ardl IXI&0 -9 § 2

e b =

1. Z- GRI&0
2. 91l F 3faR o ford -utem
3. g t-ORI&0r

4. F-O&0T

(Chosen Option)
(Chosen Option)

o O O O
AR WW NN =

Marks: 2.00

Question No. 35/ Question ID 150533

Marks: 2.00



Given below are two statements:

Statement I: (49);,=(31)15=(00110001),
Statement II: (7B);4=1(01111011),=(123);,

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

TR Ry T E:

DY : (49)10=(31);5= (00110001),

YT : (7B)6=(01111011),=(123)

IURIFd DY B 1l 4, i 34U U faeedl § 9 Hgl 3R @1 98- S ifelu:

HYFI ARG 9d &
PYTI AR I ST 3§
YT 1 JA ¢, Al HUT 1 3T &
HYF AT e AT YT I d §

1 (Chosen Option)
1 (Chosen Option)

B R

o O O O

A WOWOWNDN

Question No. 36 / Question ID 150529 Marks: 2.00

"How can you give argument in four of vegetarianism when you eat meat?" Which fallacy is committed in this
argument?

. Red herring

. Appeal to emotion

. Ad hominem

. Hasty Generalisation

O T HY WA & dl S FRAeE F i g Fu e ad e s gfdd s aad a6

I

1. Y8 &

2. AR (Ul ¢ SHIRA)
3. ofad fagw & foo

4, ATGIRI FHEHR]



(Chosen Option)
(Chosen Option)

o O O O
B WW NN =

Question No. 37 / Question ID 150523 Marks: 2.00

Find the number that can replace question mark (?) in the series given below.

55,711, 18:5,30,49.5, 85,7

.134.5
#1525
. 101.5
L1415

ag = 1 Hifere ot 14 &1 718 kge I URAdES [4E (2) Pl Aiowiitd SR 9ddi § 2

5.5, 11, 18.5, 30, 49.5, 85, 7

S O

. 134.5
«152.5
.101.5
. 141.5

(Chosen Option)
(Chosen Option)

R B

o O O O

]
]
2
2
3
3
4
4

Question No. 38 / Question ID 150512 Marks: 2.00



The reference section of a research article in written in APA style. Arrange the information pertaining to a
reference in the correct order

A Page number

B. Year of publication
C. Name of author

D. Title of the article

Choose the correct answer from the options given below:

o0 p
0P w
W 0
plw il

C.B.D.A
fepeil 2T Uzt 1 Hae] |us uuiy Qe J foran w1 § | e I Haltd ga- o 9ol Sy U sgaid
DITT |

A gy g8

B. UHTRHE &I a4

C. U9® BT
D. U &1 YiNd

= U U fdedl § U Ul 3R &1 949 iy :

1
2

3.
4.

i Sl e

(Chosen Option)
(Chosen Option)

O O O O

Question No. 39 / Question ID 150545 Marks: 2.00



Given below are two statements:
Statement I: Indira Gandhi National Open University (IGNOU) was set up by an act of Parliament (1965).

Statement II: IGNOU adopted the strategy of using integrated multimedia instructions through Gyan Darshan
and Gyan vani.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true.

[ B

. Both Statement I and Statement II are false.
3. Statement I is true but Statement I is false.

4, Statement I is false but Statement II is true.
FR S PRy e:
U1 : I M A fawafae e (g &1 R 99 & A9 1965 RIS g Uf |
DY : ﬁflqll-lq&iﬂ JHarult & A1eEH U UDidd agHIeH] (e HIfsan) Sa=H oI Jgdi o+
DI U AT
JWRIdd DY & 3dld 1. Aid [¢U 7T [dhedi § ¥ gl Stk &l 98- DI

LBFYFIARIEGA TIE |

2. FYA1 AR IS SRR |

3. HYT 1 Td &, A BYF 11 T B
4. Y1 3T, AT P 1 g Bl

1 (Chosen Option)
(Chosen Option)

o O O O

]
2
2
3
3
4
4

Question No. 40 / Question ID 150526

If the statement "Some professors are spiritualists” is given as true. Which of the following statements could
be immediately inferred to be false?

All professors are spiritualists
Some professors are not spiritualists
Some spiritualists are not professors
No professors are spiritualists

uﬁﬁg--wm HeNAE] & Tal § df FEeRad 3 8 ®1F I $YF W IR U= Tad J=1 o
FHAT 2

il o e

1. ot TR S{eTeTare] g1

2. TS WHIR A el o |

3. PO AT THIR 8l © |

4, iz i TR Sremeard] e ¢ |

O

O

WWNN ==

Marks: 2.00



O 4 (Chosen Option)
4 (Chosen Option)

Question No. 41 / Question ID 150515 Marks: 2.00
S=17 ughi & [l B ggaid |
Identify the measures of central tendency A ST TS
A, Arithmatic mean B. Hifer®1
B. Median C. IR (¥
C. Range D. dgdd @?D
D. Mode E. fadia qeme

E. Second decile

= 4y e famed! H 9 Ted SUgER IR BT 90 Sy -

Choose the correct answer from the options given below

1.A.B &C only 1. HAAdA. B3R C
2.A. B & D only 2. PFAAA.BIHRD
3.A.B.D &E only 3. Hadd A B.D AR E
4 A.B.C.D&E 4.A.B.C.D3ﬁ_\‘E
O 1

1
O 2 (Chosen Option)

2 (Chosen Option)
O 3

3
O 4

4

Question No. 42 / Question ID 150532 Marks: 2.00

Given below are two statements: in the context of MS-WORD software
Statement I: The tool which is used to insert decorative text in a document is called Clipart.

Statement II: The purpose of using Keyboard shorteut CTRL+X followed by CTRL+V for a selected text
paragraph in a document is to Cut and Paste

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement II is true

U1 U9 98 9RaR & e § 1 <1 ey fRu e @

YT :%ENWT%M TR Tt STeRIEe B Sfeighd Weg Bl WidY BRI & fou fobar e 6, fousid
PHACIE |

HYA 11 : fordl STergrie  forelt af=a Coe T=li9 & [T S1-aTS —cdhed CTRL+X & §1§ CTRL+V &
TIN5 UaTeH e 3R U 8

TRIT HY & el H, Hid fU U [dehedi & 4 98 I9gad IR &1 994 Difoig:

PRI GH T8

HYF 1 AR 1 AT ST

P Td . AT YT I T ©
HYE I AT HE I ®

O 1 (Chosen Option)
1 (Chosen Option)

B I



©)

A WOWW NN

Question No. 43 / Question ID 150536

Given below are two statements:

Statement I; Integrated Solid Waste Management is an approach. intended help /guide/decisions about the
generation of wastes, recycling of materials and ultimate disposal of waste residues.

Statement II: Sources reduction is not the part of Integrated Solid Waste Management.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement II is true,

RS sy mE:

BYF1 : Fhlord 319 SUIRIP Yde= U SURTH § il Ul & IdreH, AUl &1 g9l iR Uy
ael &1 sife =u H Fuem & Fvlo o9 § TeEd HRare |

YT 11 : TId I8 TG 31T UfRY U= &1 YT el & |

SRIGT HY & el H, - AU Y [9hedl © 4 99 39gad SR &1 994 Difg:

L. PYTI RIS TTE |

2. HYF 1 AR I SHT 3G |

3. PYTI T e, AT HUT I ST R |
4. FYT 1 ITTE, AT YT I E |

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 44 / Question ID 150511

Which among the following is NOT an advantage of open ended questions in survey research?

1. They are useful for explaining areas in which researcher has limited knowledge.
2. Respondents can answer in their own terms,

3. They allow unusual responses to be derived.

4, They are easy for the interviewers and or respondents to complete.

FEAfRad o 9§ 1 & Xy H god WAl BT a1y 78l 6 2

1. d 3 SFANUGRT &3 g IUl €. 5w Sieedl & U Sifa FE s g |

2, gmag%%‘ég%&%ﬁ Mﬁ‘%ﬁﬁgﬁaﬁ

3, ST I

4. 4 &P RIS 2R / 3yar uenidal & fau guf (99=) $3- 8q SHH 8l o

Marks: 2.00



(Chosen Option)
(Chosen Option)

o O O O
B WW NN =

Question No. 45 / Question ID 150510 Marks: 2.00
Which of the following factors influence the effectiveness of support material?
A, Clarity and Comprehensibility
B. Quantity of material
C. Appropriateness for the learner's age and level
D. Relevance to the learning objectives
Choose the correct answer from the options given below:
1. A only
2.A. C&Donly
3.C&D only
4, B & D only
HEMSD T B THITAA] D1 HHTIA SR T PRS HEaad H AP EE 2
A. TP SR T
B. {4 ©T AT
C. STl B 31 U4 WR & g Sugaddl
D. 3EMH 3520 & o uraiiesdl
i fqu T fas el § 9 e Sugad TR BT 94 BT :
1. Pad A
2. %ad A, C 3R D
3. 990 C AR D
4, %9 B 3R D
O 1
]
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 46 / Question ID 150546 Marks: 2.00



Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -3$4.1 billion, or 0.2% of GDP, according
to a Cornell study, in addition to health impacts. Experts have suggested multiple time zones in India.
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory. India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination. make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states. establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines,

Pre-1947 India used the system of

A Multiple time zones
B. Two time zones

C. One time zones

D. Daylight saving time

Choose the correct answer from the options given below:

. A & B only

. B only

. C & D only
.B.C & D only

R



AR d e & ufed 3R 394 Tafed Wl & 30 gifuid -
YR B fora1 ag 3t o= 18T € TUY AfSe e feara® (69 &1 waTen) & vdeE & savadal gl

HfErp ol S8l T B UFHTT B & (oL 59 SATUHaH P BI 1 U I00 R &1 Bi-al b U HTH & S8R Wg Jumai
& SR fqardie o1 Tgfad WanT 3 $3 IR 50! arTd $ 4.1 [Sierm a1 SiSid &1 0.2% 31l ¢ | YRd B IYH1RS Hremmt
Ay Td Sienfies SrHuT uRyg (H UH 315 3R) - PR Hifdes TRl §RT adiad Syad: 99 1947 & Gd 1 &l orel &
(CTEHG) D IR IR dled gU [ARNSi 4 YRd § 95 SIa&d (He 9d elgd iF) &1 g21d 301 g | foog UKl Haw oixdl &1 e
H T §U YT 91 B 9H-a0 B SURGA HaI 5@ [d9R &1 3B Y® §41d1 ¢ | [Gaaie aad i sagiNe ddbd gl

feaTeie aad 90y a1 e, i 9§ S o<1 U $= & [0 9fsdl & U@ bel 37 §¢1 &1 &1 o0awd] ¢ | I8 O/ o 3agas
HeH & o= Ui 118  fGardie & sifdived g7y (6e) o1 S SR g Yiddld &1 Yag YT o YT B URER ST
ife gaiay fada 3 gia1 8| 98 Ushd <% & 94l ud SwR-gdl i o o=y 30 9 It g1t | fEardie & v &1 3R s
HIYPTH P & (L. HRIVE IR U HH SRRY & 997 dadld dAINSRI 6l Gabd o | <X & dl UFT BT SUeT aigad yrr §
AT AT 90 e SR ¥ BI1 §1 9TR U4 Ud a1 Ieal H S0 RIF1 & ol § Wy U6 92l Id SNy SR 9ad ¢l 98 98
ATl @1 iRl Hevdl &A1Y 30 BTH & Hel H ey [d8M &1 e U S, [T SaRul =2 g3 all |

fqareiie & Hftiran U o [Ty wHy 3l ge § Sl sud GH1aH1 fHigd 8 off e U ¥ Soil yanT # aRadH. HRd & ord-
ﬁ@ﬁ%ﬁﬁ@%m%%ﬁ%wﬂmmw H He® 87| 5d Y IHS I61 8l df T8 ATIDdH T Wt e
g oefiag |

Ty 1947 ¥ gd URA & MEfaEd I 1 50 a1 &1 9aT faar ST o7 2

A Sg DI &
B.fgwaeA

C. U &I &

D. Rardi® s=d 99y

D

12 fqu T fash el H a9 SUgad SR &l 99 BIfo :

1. 5@@A. B
2. %ad B

3. %@ C.D
4. %@B.C.D

(Chosen Option)
(Chosen Option)

O 1
1
o2
2
O 3
3
O 4
4

Question No. 47 / Question ID 150548 Marks: 2.00



Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -3$4.1 billion, or 0.2% of GDP, according
to a Cornell study, in addition to health impacts. Experts have suggested multiple time zones in India.
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory. India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination. make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states. establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines,

India needs to manage daylight much better than it does in order to

A Improve its GDP

B. Be more energy efficient

C. Increase production

D. Reduce its carbon foot print

E. Maximize the use of natural resource of sunlight

Choose the correct answer from the options given below:

.A. B &E only
.B. C & D only
.A.B.D &E only
A C.D&E only

L



AR d e & ufed 3R 394 Tafed Wl & 30 gifuid -
YR B fora1 ag 3t o= 18T € TUY AfSe e feara® (69 &1 waTen) & vdeE & savadal gl

Hferp ol S8 T B UFHTT B & (oL 59 SATHaH P B1 1 U Ia0 R &1 Bl & U 0 & S8R WRg Jumal
& SR fqardie o1 Igfad WanT = &3 IR gds! arTd § 4.1 [9ferm a1 SiSid 1 0.2% 31l ¢ | YRd B IYH1RS Sremmt
Ay Td Sienfies SrHuT uRyg (H UH 315 3R) - PR Hifdes TRl §RT adiad Syad: 99 1947 & Gd 1 &l orel &
(CTEHG) D IR IR dled gU [ARNSi 4 YRd § 95 SIa&d (He 9d elgd iF) &1 g21d 301 g | foog UKl Haw oixdl &1 e
H T §U YT 91 B 9H-a0 B SURGA HaI 5@ [d9R &1 3B Y® §41d1 ¢ | [Gaaie aad i sagiNe ddbd gl

fEaTeie aad 90y a1 e, i 9§ S o<1 U $= & [0 9fsdl & U@ bel 37 §¢1 &1 &1 o0aw] ¢ | I8 O/ § 3fagas
HeH & o= Ui 118  fGardie & sifdived g7y (6e) o1 S SR g Yiddld &1 Yag YT o YT B URER ST
ife gaiay fada 3 gia1 8| 98 Ushd <% & 94l ud SwR-gdl i o o=y 30 9 It g1t | fEardie & v &1 3R s
HIYPTH P & (L. HRIVE IR U HH SRRY & 997 dadld dAINSRI 6l Gabd o | <X & dl UFT BT SUeT aigad yrr §
AT T 90 e SR ¥ BI01 §1 9TR U4 Ud a1 Ieal H S0 RIFI & ol § Wy U6 92l I SRy SR 9ad ¢l 98 98
ATl @1 iRl Hevdl &A1Y 30 BTH & Hel H ey [d8M &1 e U S, [T SaRul =2 g3 all |

fqareiie & Hftiran U o [Ty wHy 3l ge § Sl sud GH1aH1 fHigd 8 off e U ¥ Soil yanT # aRadH. HRd & ord-
ﬁ@ﬁ%ﬁﬁ@%m%%ﬁ%wﬂmmw H He® 87| 5d Y IHS I61 8l df T8 ATIDdH T Wt e
guefiag |

et & O g o yRa o fSra 98 o o3 w18 SUe! ske Rae & e S5d Uee= &1 Ja0aHdi© 2

A SHS! SIS § gyR & fog

B. (8% Sl g&f g1 & fag

C. e # gfg & ferg

D. $HD HIa- UGN &l HH B o [

E. g4 & U1 & Ui SHIE & IR B HHad P & g

= f4u U faeedl § 9 el SR &1 994 DI :

1. 570 A. B3R E
2. ®q@ B, C s D
3. %@ A. B, C dRE
4. FTTA.C.DARE

(Chosen Option)
(Chosen Option)

]
]
2
2
3
3
4
4

o O O O

Question No. 48 / Question ID 150550 Marks: 2.00



Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -3$4.1 billion, or 0.2% of GDP, according
to a Cornell study, in addition to health impacts. Experts have suggested multiple time zones in India.
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory. India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination. make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states. establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines,

Daylight saving time would do all of the following EXCEPT

A. Advance clock by an hour

B. Begin work late in all parts of the country
C. Get more light out of the day

D. would stagger work hours

Choose the correct answer from the options given below:

. A & B only

. B only

.A. C &D only
.B & D only
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Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -3$4.1 billion, or 0.2% of GDP, according
to a Cornell study, in addition to health impacts. Experts have suggested multiple time zones in India.
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory. India's official time keeper. But considering the
huge mvestments required, as well as the logistical exercise of coordination, make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states. establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines,

Given below are two statements:

Statement |: Daylight savings time would permit using the extra hour of daylight from March to
October.

Statement lI: Uniform opening hours at all workplaces will maximize use of daylight.

In the light of the above statements, choose the correct answer from the options given below

1.

Both Statement | and Statement Il are true.
5

Both Statement | and Statement Il are false.
3.

Statement | is true but Statement |l is false.
4,

Statement | is false but Statement Il is true.
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Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -3$4.1 billion, or 0.2% of GDP, according
to a Cornell study, in addition to health impacts. Experts have suggested multiple time zones in India.
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory. India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination. make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states. establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines,

Having multiple time zones or two time zones is not a practical option because

A. Tt cannot be done

B. The costs involved are huge

C. It will serve no purpose

D. The logistical exercise of co-ordination will be needed

Choose the correct answer from the options given below:

.A.B & C only
.A. B & D only
. C & D only
.B & D only
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